R 22 F EEERK

(1) BERXIAILREE

J
e

EREFERICETOFEVAMILABREDREE

] HBsHRIREICHLY
ZZEN) TIEHEIEHIESN RRLEER (%)
=& (N)
F&91LR  |BEFLY1ILRIE = FRYILR [BaFHI/LR - Rz [RERET o0
RESE EEE A BRESE BRESE B BEEE YALR
T 22 44,433 236,413 280,846 424 2,494 2,918 1.0 1.1 10
(2) CEIBFRIAIRIEE
MRE. CRFFRIAMILRA
_— [CREZLTULVDATREH I
=5 x = v B 23R (9
AT AT TV EHIE REF )
Shi-F(A)
FEIMIVR |BRFRIMILAE 5t FEIMILR | BEFXVAILR = XML R % &4k
BRESE EEE E RESE RESE : BREEX YALR
TR 224F FE 36,987 240,356 277,343 342 1,860 2,202 0.9 0.8 0.8




FR22FE BEFRVAMILAREBEERMGR

FRIMNIABESE REFRIMIVABRESE

HBsHiRREIC HBshiRiRE
2 ¥ AH|B Ly T|= ¢ & K2 2 H|l & W T £ F X

NeE % 1 & N %1 &

HlESh & (%) HESNT-F (%)
(AN) (AN) C (AN) (AN) C

A B (B/Ax100) C D (D./C % 100)
1 it B & 318 8 2.5 0 0 0.0
2 g2 & &8 6 0 0.0 389 7 1.8
3 2 F B 148 5 3.4 190 5 2.6
4 R A - 31 3 9.7 1,823 25 1.4
5 ' m@Bm B 155 5 3.2 198 0 0.0
6 T 386 3 0.8 0 0 0.0
7 7= B B 32 0 0.0 171 1 0.6
8 *x W B 989 11 1.1 0 0 0.0
9 wm K B 277 1 0.4 38 0 0.0
10 # E B 683 2 0.3 0 0 0.0
11  E B 1,657 8 05 12 0 0.0
12 F T B 3,052 15 05 188 3 1.6
13 B R # 199 4 2.0 0 0 0.0
14 W= ) B 98 2 2.0 5 0 0.0
15 B B 240 0 0.0 10 0 0.0
16 E W B 151 2 1.3 13 2 15.4
17 7 ) B 274 0 0.0 1,334 14 1.0
18 B2 H B 224 3 1.3 56 2 3.6
19 T 497 0 0.0 0 0 0.0
20 E % B 89 1 1.1 0 0 0.0
21 gk B 18 192 2 1.0 33 3 9.1
22 & moB 1,355 6 0.4 151 2 1.3
23 Z om B 710 9 1.3 88 6 6.8
24 = B B 876 7 0.8 224 0 0.0
25 # B B 602 1 0.2 2 0 0.0
26 = # 217 2 0.9 51 2 3.9
27 X R 531 11 2.1 18,686 156 0.8
28 E E B 521 4 0.8 2,177 10 0.5
29 Z= B =4 182 0 0.0 3 0 0.0
30 M F L B 103 1 1.0 67 0 0.0
31 E I B 196 1 0.5 17 0 0.0
32 E B B 101 3 3.0 703 14 2.0
33 m o B 130 1 0.8 144 1 0.7
34 L 5 B 16 0 0.0 3,633 37 1.0
35 t a ! 66 2 3.0 10,873 59 0.5
36 - 281 6 2.1 0 0 0.0
37 E ) B 37 0 0.0 75 1 1.3
38 T g B 526 2 0.4 44 0 0.0
39 = M B 7 0 0.0 876 6 0.7
40 B B B 332 8 2.4 1,914 24 1.3
41 = B B 58 1 1.7 3,781 37 1.0
42 E B B 225 2 0.9 520 9 1.7
43 B KX B 505 8 1.6 286 9 3.1
44 X 4 B 185 2 1.1 12 0 0.0
45 N 276 5 1.8 147 2 1.4
46 BE R B B 62 2 3.2 824 21 25
47 Mo B 0 0 0.0 0 0 0.0
ABE AT IR 5T 17,698 159 0.9 49,758 458 0.9
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(A) (N) C (N) (N) C

A B (B./AX100) C D (D./C x 100)
48 L 0 0 0.0 54,412 672 1.2
49 i & ™ 29 0 0.0 5,219 61 1.2
50 W= FTh 614 3 0.5 17,883 141 0.8
51 F E T 58 1 1.7 0 0 0.0
52 ¥ gk ™ 0 0 0.0 9,786 109 1.1
53 JII % Th 135 2 1.5 9,108 93 1.0
54 HHEBE R T 0 0 0.0 164 10 6.1
55 H B 579 0 0.0 8,546 80 0.9
56 % M T 538 2 0.4 5,632 58 1.0
57 E O TR 799 2 0.3 79 4 5.1
58 Z o B W 754 9 1.2 18,552 105 0.6
59 m & h 1,991 21 1.1 0 0 0.0
60 X B T 5,444 27 0.5 0 0 0.0
61 %] (il 199 1 0.5 8,982 99 1.1
62 #wm F 1 857 17 2.0 173 3 1.7
63 FENTG 18 0 0.0 141 5 3.5
64 L B F 122 0 0.0 8,743 60 0.7
65 &t o H 0 0 0.0 6,720 121 1.8
66 2 B th 455 6 1.3 13,497 191 14
67 EE-- 199 10 5.0 0 0 0.0
68 1B JII th 150 10 6.7 0 0 0.0
69 F HF F 127 1 0.8 1,671 16 1.0
70 B R h 30 0 0.0 0 0 0.0
71 M H TH 118 2 1.7 0 0 0.0
72 A WL T 47 1 2.1 0 0 0.0
73 W h & 1 120 0 0.0 0 0 0.0
74 F HE H 188 1 0.5 0 0 0.0
75 B B h 142 0 0.0 0 0 0.0
76 I # 913 4 0.4 1,744 6 0.3
77 W B h 107 3 2.8 0 0 0.0
78 8 Hh 561 1 0.2 1,307 12 0.9
79 B EBEE M 249 5 2.0 0 0 0.0
80 2 W T 45 1 2.2 6 0 0.0
81 £ R ™ 57 0 0.0 175 2 1.1
82 E B | 58 1 1.7 0 0 0.0
83 I B 77 1 1.3 87 2 2.3
84 2 B T 264 1 0.4 36 2 5.6
85 M B T 92 0 0.0 0 0 0.0
86 £ H 1! 380 2 0.5 397 6 15
87 X _#F H 134 0 0.0 2 0 0.0
88 =5 # h 23 0 0.0 0 0 0.0
89 B KR h 191 0 0.0 0 0 0.0
90 O 22 2 9.1 9 0 0.0
91 E B T 223 2 0.9 36 1 2.8
92 wm = h 116 1 0.9 11 0 0.0
93 = B 1 35 1 2.9 24 0 0.0
94 M B oWLmh 96 1 1.0 126 1 0.8
95 2 B th 165 1 0.6 10 0 0.0
96 2 W h 1,340 25 1.9 157 7 45
97 T B 1 239 3 1.3 63 1 1.6
98 5 ¥ th 65 1 15 178 5 2.8
99 7o 340 2 0.6 129 1 0.8
100 =5 ®M 84 2 24 1,541 8 0.5
101 A B Xkt 37 1 2.7 1,567 15 1.0
102 E & 195 0 0.0 3,700 54 15
103 BE A 1H 248 10 40 120 3 25
104 X » 1 254 4 1.6 47 1 2.1
105 = B T 230 3 1.3 0 0 0.0
106 BE IR B 822 6 0.7 0 0 0.0
107 N 57 0 0.0 420 5 1.2
108 N 0 0 0.0 186 0 0.0
109 B R Th 25 0 0.0 0 0 0.0
110 q B th o 489 4 0.8 222 5 2.3
111 ] il 77 1 1.3 729 16 2.2
112 X & H 0 0 0.0 1,191 1 0.1
113 i t#H & h 26 1 3.8 1,192 16 1.3
RERRET 22,049 206 0.9 184,720 1,998 1.1
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HESINEE (%) HESNF=-F (%)
(A) (N) C (N) (N) C

A B (B./AX100) C D (D./C x 100)
114 F R A X 398 1 0.3 0 0 0.0
115 b R X 24 0 0.0 0 0 0.0
116 & X 0 0 0.0 0 0 0.0
117 1 ' X 130 2 15 0 0 0.0
118 X ZE X 32 0 0.0 0 0 0.0
119 5 ®H X 398 3 0.8 0 0 0.0
120 £2 H K 0 0 0.0 100 0 0.0
121 dI B X 90 3 3.3 0 0 0.0
122 &)l K 123 0 0.0 784 13 1.7
123 H E R 113 4 3.5 0 0 0.0
124 X H K 0 0 0.0 56 2 3.6
125 H H A KX 0 0 0.0 135 2 15
126 B K 17 0 0.0 0 0 0.0
127 - 100 4 40 0 0 0.0
128 2 i X 62 0 0.0 0 0 0.0
129 2 B X 81 3 3.7 185 3 1.6
130 it X 46 0 0.0 138 2 14
131 = )l K 4 0 0.0 275 8 2.9
132 R B X 83 1 1.2 0 0 0.0
133 #w E X 0 0 0.0 0 0 0.0
134 BE I K 78 1 1.3 11 2 18.2
135 2 _fi KX 0 0 0.0 251 6 24
136 IR JII X 2,907 37 1.3 0 0 0.0
BRI X 5t 4,686 59 1.3 1,935 38 2.0
A5t 44,433 424 1.0 236,413 2,494 1.1
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A B (B./AX100) C D (D/C X 100)
1 it piee) Pl 318 3 0.9 0 0 0.0
2 = o g 6 1 16.7 390 13 3.3
3 5 F B 151 1 0.7 187 2 1.1
4 O B 30 0 0.0 1,833 5 0.3
5 U H 2 154 2 1.3 211 5 2.4
6 1] i3 = 332 1 0.3 0 0 0.0
7 & =) g2 32 0 0.0 171 0 0.0
8 B/ P [ 986 11 1.1 0 0 0.0
9 m K & 273 4 15 40 0 0.0
10 i 5 g2 534 7 1.3 0 0 0.0
11 i EF B 1,567 14 0.9 12 0 0.0
12 F E B 3,042 15 0.5 180 3 1.7
13 D = £ 198 3 1.5 0 0 0.0
14 W= B 99 5 5.1 5 0 0.0
15 b3l o =g 218 1 0.5 10 0 0.0
16 = 0] g2 152 0 0.0 9 0 0.0
17 a 2 274 0 0.0 1,334 5 0.4
18 B H B 195 0 0.0 58 2 3.4
19 1] el g2 496 2 0.4 0 0 0.0
20 £ 5 = 88 1 1.1 0 0 0.0
21 g B 8 193 2 1.0 33 2 6.1
22 &% [z g2 282 8 2.8 152 2 1.3
23 ZF M 2 688 7 1.0 85 7 8.2
24 = = =4 903 4 0.4 224 9 4.0
25 ¥ B g2 601 0 0.0 2 0 0.0
26 W # A 214 2 0.9 51 1 2.0
27 X B A 534 7 1.3 18,686 161 0.9
28 E E B 482 2 0.4 2,193 11 0.5
29 Z= B [ 183 0 0.0 3 0 0.0
30 M ;W B 107 0 0.0 69 5 7.2
31 5 W ! 203 2 1.0 17 0 0.0
32 5 i [ 106 2 1.9 710 16 2.3
33 fit] 1] ] 130 3 2.3 144 7 4.9
34 I 5 g2 16 0 0.0 4418 19 0.4
35 ] ] [ 67 2 3.0 10,873 93 0.9
36 g 5 ] 284 2 0.7 0 0 0.0
37 F 2 37 1 2.7 75 0 0.0
38 = 1% = 94 2 2.1 44 1 2.3
39 = ] 7 0 0.0 917 9 1.0
40 12 [i#] g 328 7 2.1 1,914 55 2.9
41 ' =B [ 59 1 1.7 3,772 63 1.7
42 E B B 225 0 0.0 517 9 1.7
43 RE Z g 506 20 40 287 8 2.8
44 X v = 183 9 49 10 0 0.0
45 - 269 3 1.1 145 3 2.1
46 E R B8 B 63 1 1.6 824 6 0.7
47 ; bt 2 0 0 0.0 0 0 0.0
R E AT IR & 15,909 158 1.0 50,605 522 1.0
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Eanf-E (%) LHIEESNT-E (%)
(A) (N) C (N) (N) C

A B (B./AX100) C D (D./C x 100)

48 L 0 0 0.0 55,396 180 0.3
49 iw & 1w 29 0 0.0 5,232 37 0.7
50 W= FTh 604 2 0.3 18,163 104 0.6
51 F E T 58 3 5.2 0 0 0.0
52 B E T 0 0 0.0 9,788 85 0.9
53 T 135 0 0.0 9,100 76 0.8
54 HHEBE R T 0 0 0.0 164 3 1.8
55 H B 584 0 0.0 8,546 27 0.3
56 % M T 529 3 0.6 5,632 93 1.7
57 E O T 524 2 0.4 83 1 1.2
58 Z o B W 754 5 0.7 18,552 130 0.7
59 m & h 1,991 34 1.7 0 0 0.0
60 XK B 1 295 13 4.4 0 0 0.0
61 %] (il 199 1 0.5 8,982 91 1.0
62 #wm F 1 800 15 1.9 173 2 1.2
63 FENTG 18 1 5.6 141 5 3.5
64 L B 1 122 2 1.6 10,518 59 0.6
65 &t o H 0 0 0.0 6,720 128 1.9
66 2 B th 455 6 1.3 13,497 155 1.1
67 EE-- 194 1 0.5 0 0 0.0
68 1B JII th 151 0 0.0 0 0 0.0
69 F HF F 117 0 0.0 1,675 10 0.6
70 B R h 30 0 0.0 0 0 0.0
71 M B TH 119 8 6.7 0 0 0.0
72 T 47 0 0.0 0 0 0.0
73 W h & 1 120 0 0.0 0 0 0.0
74 F HE H 189 0 0.0 0 0 0.0
75 B B h 144 1 0.7 0 0 0.0
76 I # th 910 3 0.3 1,746 13 0.7
77 W B h 107 1 0.9 0 0 0.0
78 8 Hh 563 0 0.0 1,307 2 0.2
79 B EBEE M 249 1 0.4 0 0 0.0
80 g W T 44 0 0.0 6 0 0.0
81 £ R ™ 57 1 1.8 175 0 0.0
82 E B | 59 0 0.0 0 0 0.0
83 I B 77 1 1.3 87 4 4.6
84 2 B T 263 1 0.4 36 2 5.6
85 M B T 88 3 3.4 0 0 0.0
86 £ H 1! 379 2 0.5 397 6 15
87 X #F 1h 133 1 0.8 0 0 0.0
88 =5 # h 23 0 0.0 0 0 0.0
89 B KR h 197 3 15 0 0 0.0
90 O 22 0 0.0 9 0 0.0
91 E B T 223 4 1.8 36 1 2.8
92 wm = h 123 0 0.0 11 0 0.0
93 = B 1 35 0 0.0 24 0 0.0
94 M B oW mh 88 1 1.1 129 2 1.6
95 2 B th 113 1 0.9 11 0 0.0
96 /£ W 1,340 3 0.2 157 1 0.6
97 T B 1 240 1 0.4 63 0 0.0
98 5 ¥ th 65 2 3.1 178 0 0.0
99 7o 338 2 0.6 129 4 3.1
100 =5 ®M 86 0 0.0 1,557 6 0.4
101 A B ¥ 1 39 0 0.0 1,567 34 2.2
102 E & 195 1 0.5 3,706 27 0.7
103 BE A 1h 247 11 45 127 6 47
104 X H» 1 254 1 0.4 47 0 0.0
105 = B W 236 0 0.0 0 0 0.0
106 BE IR B 795 4 0.5 0 0 0.0
107 I H 57 1 1.8 422 2 05
108 N 0 0 0.0 186 2 1.1
109 B R Th 25 1 40 0 0 0.0
110 B &fh 495 2 0.4 222 2 0.9
111 ] il 77 2 2.6 732 10 14
112 X & H 0 0 0.0 1,191 1 0.1
113 i t#H & h 25 1 4.0 1,193 6 0.5
RIBFTERE AT 16,475 152 0.9 187,813 1,317 0.7
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(AN) (AN) C (N) (N) C

A B (B./AX100) C D (D./C x 100)
114 F R AKX 398 1 0.3 0 0 0.0
115 b R X 24 0 0.0 0 0 0.0
116 s X 0 0 0.0 0 0 0.0
117 - 55 0 0.0 0 0 0.0
118 X ZE X 32 0 0.0 0 0 0.0
119 5 ®H X 399 1 0.3 0 0 0.0
120 = H X 0 0 0.0 100 1 1.0
121 I ®m X 90 0 0.0 0 0 0.0
122 m JI R 116 0 0.0 784 3 0.4
123 H E R 113 2 1.8 0 0 0.0
124 X H K 0 0 0.0 59 4 6.8
125 H H A KX 0 0 0.0 135 1 0.7
126 B K 17 0 0.0 0 0 0.0
127 - 100 1 1.0 0 0 0.0
128 2 W X 62 3 48 0 0 0.0
129 2 5 X 81 2 25 185 3 1.6
130 it X 43 0 0.0 141 0 0.0
131 O 4 0 0.0 272 4 1.5
132 R B X 83 3 3.6 0 0 0.0
133 #w E X 0 0 0.0 0 0 0.0
134 BE I K 78 1 1.3 11 0 0.0
135 2 _fi KX 0 0 0.0 251 5 2.0
136 IR JII X 2,908 18 0.6 0 0 0.0
BRI X 5t 4,603 32 0.7 1,938 21 1.1
A5t 36,987 342 0.9 240,356 1,860 0.8




